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Is it not because it is presumed searched - PY73 ANPINT 2R IRD

OVERVIEW

The X3 posed a query; what is the ruling if a tenant rented a house on the
fourteenth of 70°1 (by day); is the house presumed to be 2172 [by the 7°>wn the night
before] (and the 721w need not be p712), or not (and the 7121w must be P712). 19171 20
Prx¥° 12 attempted to resolve the query by citing a Xn*72 which states that (even)
o°1uPY 0°72 oW1 are believed concerning yn 7ya. The X ) presently assumes
that they are believed to testify that the owner was ynn 2. The question arises,
how can we accept the testimony of "1 o°w3, since they are m7v? 09. The
explanation would seem to be that since a house is presumed to be 2172 (on the
fourteenth); therefore we can believe their testimony. This seemingly resolves the
query.' mooIn has a difficulty with the resolution at this stage.

L 4

Mmoo asks:

— 2959 5377 NARY T8 N1 19 BN P12 INPINA INT AINYT RPYD INMD NN
It is astounding! What initially entered the mind of >"217 to resolve the query
from this Xn»72? For if a house is indeed 2172 npin2 (as *"217 infers) then why is
the testimony of the 121 2°w1 necessary at all?! If we are to assume that a house is
presumed to be P72 on the fourteenth, then it is not necessary for the household members to be
P72 the house (again) on the fourteenth; regardless whether the w1 testify or not. How can we

reconcile that a house is considered 72 npin2, and that the testimony of the 2°w1 is required to
relieve us from being p712 (again)?!4

MmBoIN answers:
— 992 12N HYAY 11D 2999107 PN 13529 9DINY

And the >''1 explains that the Xn™72 is discussing a case where for instance the

homeowner is in the city and he can be contacted to find out whether or not he was p2 the

house the previous night. In this situation -
— 991091 INWIY 7998 9932 NIININT 1199 PITA INPINT 23 bY 9N

Even though the house is 172 1nP, nevertheless since the owner is in the city it

' The X3 continues on to challenge (and refute) this resolution.

2 Others amend this to read npIn.

3 This question seems similar to the s'X7%3 question later, 21 D*3K1 9377 *KiT PI72 MPINT "X X9K'. See however later in
this MooIN the difference between these two questions.

* The fact that we need (and rely on) their testimony indicates the opposite; that it is not p17a pa, therefore the
testimony of the 131 2°w1 is necessary to relieve us from the 7p>72 271°77.
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is necessary to ask him® if he was p713 or not -
— 195N N9T 9307 NNN 230N 3979

And in this regard, the testimony of the 121 o°w1 is effective that we need not
ask the owner; but rather we depend on the testimony of the "21 °wi. This answers NHOMN

question, it is indeed P172 nNPIN2; nevertheless we are still required to ask the owner; however if
the 121 o1 testify that the owner was 712 it is not necessary to ask the owner even if he is 7°v2.

mooIn anticipates a difficulty with his contention that if the owner is available, he must be asked
(even if we assume that 172 1nPi):

— SoNYIY 190N T99Y PPN 793N NPINN 1359100 YAV 2237 23 Y 9N
Even though that concerning the prohibition of *»av we depend on the
presumption that a '*aan performs all the necessary tithing to remove the 22u MoX
and it is not necessary even to ask him if it is %2v or not, even if the 727 is in the same
city. Why is it that by y»mn np>72 it is necessary to ask the owner (since it is ?172 10p117)?

mooIn replies, the reason that by v it is not necessary to ask:

— 5IYAM SPY XY XYV NN NNINDN DIANY 19 NIYY 11997 DIUN 139D
That is because since the 1217 sent him (this food) to eat, it is presumed that he
prepared it properly in order that the recipient should not be caused to stumble.
If the food is 72v then whoever eats it transgresses a sin which is punishable by 2w >7°2 nn°.
Therefore we are certain without a doubt that it is not 220 (and the 1211 need not be asked) for the

721 would never allow this to happen -
— DWON 75 95 NN RY PYTa NP1 XY IDION NPYTa ) DaN

However concerning searching for y21 where even if the house will not be 173,

there will not be such a great hazardll, therefore there is a concern that the owner may
not be so meticulous to be 712, for in his mind it will not be a great calamity if he is not p72.
This weakens somewhat the P172 1npin -

— 95932 NIN ON INWIY 7298 79Y

Therefore it is necessary that the owner be asked, if he is in the city."

> The reason for this is because regardless of the P11, nevertheless NN maintains that 1397927 727 RIRT X377 93;
therefore it is necessary whenever possible to have complete verification.

® However if it would be 172 1np1 X, then obviously the testimony of the 2°w1 would not be accepted.

" The case (in &,2% 1217%) is if a 12 offers someone his produce, the person may eat it without verifying by the 1an
whether it is 22v, for there is a 7P by a 12n that he is not 3230 PRY 127 17> RN KX,

¥ See “Thinking it over # 1.

% 9au is produce from which not all of the NN or NWYH was separated. It is XN IR MOK.

19 A ~an is a 0on 720 who accepted upon himself to be meticulous in the observance of mgm 7.

" According to mpoin the whole 71>72 27 is merely a 7773 that 12989 812> X9w (which is far fetched). If a house is
not 172 there is no actual 710°R (since the owner will be van the yamn).

"2 However the testimony of 121 2*w1 is sufficient and he need not be asked.
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mooIn explains the continuation of the &723:
— 115959325 PPITA NPINA DINAN DI PITA INPIN IN PION)

And the X3 concludes (refuting the resolution) if we are to assume that PR
173, why does the Xn>>12 state 0°1a81 957, it should have stated ‘all the houses are
presumed to be 2173’ this concludes the refutation of the X3

moon explains this challenge'?; for if the xn12 would state 2°p172 NP2 0°N37 95 -
— 4592 NIN ON 1999N 13290 INYIY 7998 PN “59nm 2304 nvaNT 13599 ND9312)

Then automatically we would know that the testimony of the o°w1 is effective
and it is not necessary to ask anything of the owner even if he is in the city."

mooin offers a different answer to the original question: how can we presume that 172 1np11; for
then, why is their testimony required at all:
— 13D 1IN) PITA 91 NY 931 YININT INT INYT XPYDT PHYY 13529 YD
And, in addition, the >''1 explained that >"2117 initially thought that the Xn>92 of
D°1aK1 9077 is discussing a case where the 2w testified that the house was not
»172; however we (the 2°w31) were 272 the house. In this case -
- YN O3 ONT 91 *3307 PI13 INPIN INT
If a house is considered 2172 WP then the 0wl are believed to claim we were

?712, because of a an that they could have kept silent and not mention that the owner
was not P712. We would then assume that the house is 2172 on account of the 7p11. They are to be
believed that 11972 73X because of this 1a» -
— 91297193 ININ P12 INPIN PPN ON YaN
However, if a house is not ?72 1P, why should we believe them when they
claimed we were 713, they have no 2. Even if they would not testify that the owner was not
?712, the house would still require a 7>72 now, since it is 172 NP1 PX. The fact that they are
believed (with a 1a») proves that a house is P172 npIn.
$IMI2 23DONNT 1YY NN 115D YA PPPITA NPINA BINAN YD 95N IN 72999

" According to mooIn this question of 777 *y2" 0°P172 NP2 O°N27 93, is seemingly not clear. The kN2 (seemingly)
could not have stated 121 2°nan 9o, for the Xn>12 wants to teach us that the o°w1 are believed and the owner need not
be asked, therefore it had to state 121 2°1nR1 9377 The answer follows.

4 The reason the o*w1 are believed is not (so much) because of their n1nK1; it is rather because the house is NP2
?172. It would be more appropriate for the Xn>1 to cite the real reason and cause of the ruling (which is 2°na7 9>
0’172 nNp1na) than merely stating the effect that the 0°w1 are o X1

15 11901 maintains that since, when the owner is not in the city, the house is considered 172, this proves that the
requirement to ask the owner when he is in the city (if he was p712) is more of a formality (that we have direct
knowledge of the fact and not merely an assumption). Therefore it will be self understood that the testimony of the
a1 fulfill that formality (for we have direct knowledge). See (however, the (7"X2) *"15 and) 0i772X n372.

' See “Thinking it over’ # 2.
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And the X3 refutes this resolution arguing if this is so that a house is 172 npPIM2,
the Xn>12 should have stated 37172 npta 2°n27 92 and automatically I will

know that the o°w1 are believed to claim 11772 11MIXR since they have a 1% that they
could have remained silent.'’

SUMMARY

The X&) assumed that if a house is 172 npPn2 then if the w1 claim that it was
172, there is no need to ask the owner even if he is available. Alternately if a house
1s 72 npina then if the o°w1 claim that the owner was not P72, however we were
?712 they would be believed with a *pnw >va7 1.

THINKING IT OVER

1. mpoIn asks why by a 1an there is no need to ask'®. Why did not mpoin asks this
question when the X3 previously asked 7°2°w°% n"po1 °&n?; why is there a need to
ask: how is this different than the case of 1an?!"

2. If we assume that a n°3 is 2172 npm2:%° what would be the 77 if 191 w3 claim
that the owner was not 712; does the house require 7p>72 or not?*!

3. What are the relative advantages of each of n1901n two explanations?

4. Do the two explanations of N1901n agree with each other?

" The o'w1 have no independent Minx1, they are believed only on account of the 13 which is set in place by the apm.
The &n»71 should state the 71p11. See previous footnote # 14.

'® See footnote # 8.

¥ See o X n"n 2",

% See footnote # 16.

I See (7"%2 7"72) 02K NO12 and HRMY N3
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